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Test 1, Math 2130, Fall 2019 S O \ U'k'\ onS

Directions: Show all of your work to get credit. No calculators. Good luck!

1. [B points] Find an equation of the plane passing through the points (0,0,3), (1,0,-6),
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2. [5 points] Find and sketch the domain of
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3. |10 points - 5 e imit exi
(10 p 5 each] If the limit exists, calculate it. If the limit does not exist show why
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4. [10 points - 5 each| Calculate the following partial derivatives. ]
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(a) Find fx Where f(x’y) = 3x2 — 5y2
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(b) Find g,, where g(z,y) = z cos(y? + 22°%)
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0z
. [5 points] Let z = sin(2z + y) where z = s> — t* and y = s* +t*. Calculate 35 = %
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Note: Make sure your answer only has s’s and t’s in it.
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6. [10 points - 5 each] Consider the function f(z,y) = =

(a) Find the directional derivative of f at the point (0,1) in the direction of (4,1)

(b) Find a vector that points in a direction of no change in the function at (0,1).
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7. [5 points] Find the linear approximation of f(z,y) = 4cos(2z — y) at the point (2,0).
Then approximate f(0.8,0).

Recall that

cos(0) =1 cos(m/4) = V2/2 cos(m/2) =0
sin(0) =0 sin(n/4) = v2/2 sin(n/2) =1
™ 3.14159 27 = 6.283185 7/4 =~ 0.7854
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